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Part—1/9mT-1

_ Marks — 30 / 3@ — 30
Me: THAMH HA 15 I & | T3 T AP 2 | @ W * w02 o
fuifa €

Note : There are 15 questions in this part. All questions are compulsory. Each
question carries 02 marks.

Aqifires et ae o g R wn ® 2 [ i : 20 9]
Differentiate between compound and element by definition.

[Answer Limit : 20 words]
WA IR # P & B aret e e w3 # 2 [STR T : 20 7155
Describe the prominent effects of nicotine in the human body.

[Answer Limit : 20 words]

R 3 w1 T & e i T, v 7 [ - 20 92

Rusting occurs in Iron but not in Aluminium, explain why ?
[Answer Limit : 20 words]

stfeshelt Hifewee waet @ & ¢ fbw agudia w3 @A, Humwm 6 wre § s

$i ? : . [T HMAT ; 20 91sg]
What are genetically modified crops ? Which Multi National Company Introduced
Bt-Cotton in India ? [Answer Limit : 20 words]

¥4 gieafe I () T A (Gene) F1 71 T 9T (He) 9 S
AR | [3R i : 20 wre]

Name the transgenic plant(s) and the genes used for mercury detoxification.
[Answer Limit : 20 words]
MR T 99% 969 Ug Afgen § oot O Hioerall st g why gv fifendter
ferat gicht 2 aen skt Sftam arafy, e s B 2 2 [T & : 20 v
What is generally the number of red blood corpuscles per cubic millimetre of
blood in an adult man and woman and what is the approximate life span of Red
Blood Corpuscles ? : [Answer Limit : 20 words]

U STt § A5ee hY 3rfereh Wit & e W T @ 7 [3TR &t : 20 v
What is the effect of excess nitrates in drinking water ?
. [Answer Limit : 20 words]
St~ fafereran it wfvman forfa | [ HimT : 20 912
Define Biodiversity.
[Answer Limit : 20 words]
i e @ ¢ [3TR €T : 20 wsg)

What is sustainable development ? [Answer Limit : 20 words]
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10. | SI=5HT @ TS 9T hY TN H | THHT BTG 7.4 x 1022 kg F1 BT 1740 km
2 - | [3aX T : 20 v1se]
Calculate the escape velocity from the moon. The mass of the moon = 7.4 x 1022 kg
and radius of moon = 1740 kms. [Answer Limit : 20 words]

11. | foneafRma g snagzd € 7 . - [STEm : 20 Ise]
What do you understand by Remote Sensing ? [Answer Limit : 20 words]

12. | 9GS % BeA =t yfonfa hifd | [T i : 20 wreg)
Define Cloud Burst. _ [Answer Limit : 20 words]

13. | “sfs” g ? : [T : 20 wse] |
What is “Epicenter” ? [Answer Limit : 20 words]

14, | Tfeehet IR %8 (GUI) 3 Hw1v I5R §e0hd (CUI)  Hex 3iat 9aisy |

[3T 4T : 20 v15g)

Differentiate between Graphical User Interface (GUI) and Command User
Interface (CUI). [Answer Limit : 20 words]
15. | MS-Word # <1 st faheq 1 @ 7 [STR HHT - 20 9]
What is mail-merge option in MS-Word ? [Answer Limit : 20 words]

Part—2/90rT-2

Marks — 50 / 3% — 50
dqe: @A H B 10 7 € | oft ww whEd | @S v F R 05 a1
fuifa &

Note : There are 10 questions in this part. All questions are compulsory. Each
question carries 05 marks.

16. | “STeplcreh T U “TgT-qwan” Y whfeehan § $g 3 HRON 1 qui B |

[SX HiHT : 50 3155
Describe'the reason for difference in the crystallinity between “Natural Rubber”
and “Gutta-Percha”. [Answer Limit : 50 words]

17. | aRifyfershe shen = @l 7 39 ol G SR vl ot | (S e ; 50 e

What is Borosilicate glass ? Describe its properties and applications. _
[Answer Limit : 50 words]

18. | Wewn? 7 U3z & ¥ TN YA ATGVIHAL & ? [STR T : 50 975G
What is patent ? What are major requirements for grant of a patent ?
[Answer Limit : 50 words]
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amd. g .. (JUCN) 1 gof & fiflae | 3= sfte srfafem wra i wee gro fea
o srftfrafira foran e qun sue St @ Ut ? [T T : 50 wIsg]

Write the full form of IUCN. In which year the Parliament of India .enacted the
Wild Life Protection Act and what was its purpose ? [Answer Limit : 50 words]

e TguuT o AR 3 $® UGS | [3a € : 50 wsg)
Suggest some measures to control noise pollution. [Answer Limit : 50 words]
TEH ITH T 3R | 31 98 hifve | [STR HT : 50 WIsg]
Differentiate between a National Park and a Sanctuary. [Answer Limit : 50 words]
Rt fodte | d W Egy # fufi fafigy | (3T & : 50 W)

Give a brief account of Indian Remote Sensing System. [Answer Limit : 50 words]

IIYS TH TN T T AL 7 [ €T : 50 92

What is the difference between infrasonic and ultrasonic waves ?
[Answer Limit : 50 words]

STehfcieh Wel Te NTepfcreh JATILT 3 1 & IR 2 7 [ST HT : 50 2]
What is the major difference between Natural hazards and Natural disasters ?
[Answer Limit : 50 words]
HER e % H1eEH @ STiafh g & forg @ gfeat § 7 [3aT i : 50 wree]
What are the challenges to internal security through communication network ? '
' [Answer Limit : 50 words)

Part-3/91T—3

Marks — 40 / 3@ — 40
e . 3@ e 07 99 § | Inaefi R 05w @ I 2 | I e % R
08 37 fAuif@ 2 |

Note : There are 07 questions in this part. Candidate should attempt any 05
questions. Each question carries 08 marks.

Frefearfaa s avfa =i
(i) wAfewe e, Frsgftin i i vg=m & forg,
(ii) g, ufy ait HmEd [STR T : 125 32

Describe the following : ,
(1) Benedict’s test for the detection of reducing sugars.
(i1) Drug, medicine and chemotherapy. [Answer Limit : 125 words]

WA f R s A aFA /=L 7 [SaH ; 125 M=)

What is gene therapy and how does it differ from supportive therapy ?
[Answer Limit : 125 words]
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TR T A & 7 o g o) W g fefr % e o o R e % i
27 [SR €T : 125 91T
What are chromosomes ? Describe the types of the chromosomes on the basis of
number and position of centromere. [Answer Limit : 125 words]

wes e o (Sl Saeiui= Aehfasw) 1 gara fafiau | (I & ; 125 wisg]
Describe Clean Development Mechanism (CDM). [Answer Limit : 125 words]

C (SRMUE), Si TYUT Ge I ATeTsh HEAT T @ W C TF FATETH 8 I Si a1
Ge A9 =T &, TWE W | | [ Him : 125 91sg)

C (diamond), Si and Ge have same lattice structure, but why C is an insulator and

Si and Ge are intrinsic semiconductors, explain. [Answer Limit : 125 words]
w15 qd Saree goneft F awemeR | (e o - 125 Mg
Explain Flood Early Warning System. [Answer Limit : 125 words]

st Breer AR feew W DBMS % 1 BRG § ? DBA ¥ &r = ot afonfya

o | (ST & : 125 9]
What are the advantages of DBMS over typical file processing_s;.r.stem ? Also
define the functions of a DBA. [Answer Limit : 125 words]

Part—4/9mT—4

Marks — 80 / 3i@% — 80
Me: AT H FHA 07 WA & | 3nefi f5=i 05 wl &1 I € | v @S v F for
16 31 fuif@ g |

Note : There are 07 questions in this part. Candidate should attempt any 05
questions. Each question carries 16 marks.

s w1 909 L | YHTefeed ve gaiafen wnfeess o s afga e =t |

[3T HH T : 250 5]
Explain plastics. Distinguish between thermoplastics and thermosetting plastics
with example. [Answer Limit : 250 words]

(37) GTA g iy Bt ) 7R 1 qvA R |
(/) ‘aRye Yewwe w1 R 7 W@ WRwns ke ¥ “mrht-smeea” Bf go 3

W R s awa ? 7 [SER i : 250 W)
(a) Describe the removal of greasy dirt by soap.

(b) What is absolute alcohol ? Explain how it can be obtained from rectified
spirit by fractional distillation. [Answer Limit : 250 words)

mifees wiess =1 2 7 3aeh = sreenedt v awive o woafdm oot
Hifora | [T & : 250 9G]

What is menstrual cycle ? Write brief note on its various phases and hormonal

control. [Answer Limit : 250 words]
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mmm—m%mmwwwmmﬁﬁmmm%l

[T € : 250 wisg]
Explain the impact of solid waste on our environment and show how it can be
managed. [Answer Limit : 250 words)]
N Cd g wwrd- R # wam ot 2 2 g it g o wam-fi % v %
o fafigu | [T Him : 250 wree]
What is the difference between soft and hard X-Rays ? Write down the uses of
X-rays in five different areas. [Answer Limit : 250 words]
qE % YT H T | (ST HTHT : 250 W]
Explain the types of drought. [Answer Limit : 250 words]

mﬁaﬁﬁq}aﬁaﬁa@iﬁmﬁamﬁaﬂfﬁl [3eR #imr : 250 g
Dll’ferer}tlate betwe‘:en LAN, MAN and WAN. Give example of each, Also discuss
topologies and devices used in computer network., [Answer Limit : 250 words]
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